V‘/(olou((‘nlg/

la) 1990 N.Br, - ©0.910° 763 mol
218448 g/mo!

moldidy = 09013 mel = 132 mol/e
O .S000 k<3

b) 92.3¢ KF . 1582 730 no

5% .0% 705\3/#»(0 l

YV\U&LQ'“\) = 1538 T30 puel = .59 mo‘/l(g
1.0 000 kc)

e) 01804} Rl Bir - 0.593 mol
15,3718 8/;449(

wmolalihy = 0593 mel = 0719 ™/ky
O.224 kg

01) 5. ZquEy2 = O.5Ce ..
278 . 498 Sjwel

nolalihy = 0.306 mel - 2.19 mol /k 5
O 1400 ky

‘47003 76 g /ol

olal: - 0.000Zmel - 0.282 mol [
™ J’b 0.0330 kg J




V\/lO N Jwtg

le) 100e¢ A0, - 0.0523 wol
191 . 6\@4 S/nwl
velality - 0.0523 me) = 0.260 ™/
0.201 Kf)
26 ) M@faﬁir‘g —'L:_g_ﬁ/ R n(d/a/'{g . /(j soloex -
n{a/ - (0 .85l M"'/(c5 Y (.0 000 kﬁ) = 0.851 mol
wmol = mass Mass = ol - pyol paoess
Mo'{MaAA

FZL(CL04>3
aaso = (0.850 mol) (3.76.76285//”/) - 320. 4

b) \/0\6(5 Moss = 7

vl = (0.534 '“"‘/k N 1.0000 k) = 0.534 yo!f
Masd = (0534 wmol)( 30(; 529 9lmol ) = 14 g

Q,\ L MV\OL} M QAN = 2

mol = (D614 ™eg V(0.5 000 ko) = ©.307 nef
Muss = (0307 mom( \25. 8716l g/mol) = 2B (Qj



Melal ity
20 T, moans = 7
Clly s = ol - olene t

(250.0mC ) 1-56% 4 fpl )
- 349875 4

el = (0115 ke ) (0.25275 kg ) = 0.0698 nel
poss = (0.0698 M) 25 3.809 3jnel) =

' 30.0 q HF , 70.05 H, O

mol HF = 30.0 g = 1499 s24 mplt
20.00b 3Y55/m0/
A{v(afé@ = 499 s2y md o 2/.4 rz/@//kj
©.0700 %
40) 2550 (ol u0,S - O.100 ©97 84 mol

253%. 232 24 3/M(f(

/\10{#//!2 = Q.10 1 maol [.O] ne

.100 kc3
ATee = (100 Y- 1.8 ° ) ATz = (101 )(0.512 C40)
= -1.87°C = 0.51b¢
FP= 0.00°C - 1.&71°C &P

= (00.00°C + O.516°C
= -1.81°C = 100,52 °C



Melolity

b)) 10004 Colls 0,5. - 0 .24 28!
288 .30 92 3/M0|

pllity = 0.348me| - 3.469 n

0. 1000 kj
ATee = (3. 4,9 )L/ )= 4. 45
FP = 0.00°C - LY4S°C = - (.45%
Bler = (3469 W ) 0.812 ) = 1.78 C
F = 100.00C + 198 ¢ - (0178 7T
4’ Cw /\}:. SOL{ — N,‘ 2t + SOt[-Z—

ol = 2l = 0.140 pp!
5497536 g /mol

waaﬂf@ = 0190 mel » 2 ‘ona feompouncd = 279G 0
0 .1000 ILb

—_—

(rp = (279 mn) (186 °0.) = -5.19 ¢
FP =-5.19°C - p.po°C
FF = -5.9°C

pTer 7 (2750 )(0.802°C/n) = |.43°¢
AP = 100.00°C -+ [-43°C
= (01.43°C



ﬂ/uaf t'l*:\/)

) Mg (ewy), —» Mg* e za1o)

"’lé{ = 1109 - 0.403 Y\({J/ (x 3 .‘ms/cm,pwno()
14 1. 2074 3/4/140( = 1.2l nol
n/(MlL(j = (.2 mo\ - b.o4 W
0.2.000 kﬁ
aTee = (604 w ) (- 1.80° %) =711 2 C
EV= 000°C -1l.2°Cc = -127C
zTee = (b.04m) (0812 )= 3.09°C
6F 100.00°C + 3.0G°C = 032.08 °‘C

e) C\qu NOq (N CbHs!\JQZ

“4"( 4134 _ 0.155 mel
217,240 76 g/maf

vvlo(dtkj = 0185 M — 1.58 m

O.1000 kf)

6Tep = (155 03(-7.00% = 10.8C
¥P s 517°C - 108C= -561%C

ATgr = Ct65wv)(624°4/m3 E.loC
BP - 210.8°C r E1OC = 218.9°C



MO{&.QHL“j

LH;) 47.5 & Ciz¥22 O, n 135 9 H, O

ol = 7. 54 - 0.285 w!f
212,300 08 5//»(/
moldihy = 0285 ml _ 154 m
0.(185 kﬁ
plep = (L5t n )18 Y ) =-2.8LC
P = 0.00°C -28C = -2.26°
aTer = (1,89 n)(D.512%n) = 0.788°C
Rl =  100.00°C +~ 0.7883°C = jp0.77 C

44) 14.0q Cotls 1n 2504 CoHe

N[O{ T 1‘4-0% = 0.101 yv(tf/
128,113 524/mo |
molality = 0,108 ol = 437 e
O‘OZSOk@
ATee = (431 w4990 Y ) = -21.4°C
FF- 5.5°% -21.4°C = -135.9°
ATer = (.37 0)(282°%) = 111

AP = Q0.\C + h.\1°C = ql.z2<C



Mslal ty

L“/\) 250-06 C,7H'-f grl\lol—, ‘N 5000% C(oH’ég

vvlo| = 250.04 _ 1.02 ”1"/
24¢.01 O@g/md[
molality = 4720 102 mo] = 2.03 n

0 .5000 kﬂ

ATep = (2.0 n)(-490 ) = -9.96°C
FF= 58°C - G9%°C= -45°C

ATeP

(2.0%5 2 )(253%/ ) = 514 C
af

20.1°C. + S14°C = g5.2°C

nwoW

"l'; ) (oo Oﬁ aqH% P 10/08 O 4 CHSL’OOH

nol = 60.03 _ 0.475 n//a/
12029162 5//140/

MO'(M% = @.‘1‘75;440( - 475 i
Q.1000 kﬂ

Niee = (473 )(-3860 ) = -18.5C
FP= 1b.o4C - 18.5°C = -/.9°

ATer = (475 m)(3.07 %) = 14.6°C
GF = 117.9°C + |4.L,°C = 132.5°C



Melalite

50 aTre = 0450 -0.00 = - D430 °C
m: ol = —0430C - 0.23 n
KFf’ ’/%é ‘C/W

ol = (r) (kg ) = (0231 /i) (0 2Ll k) = 0.19% no

—

n/la’( Q. 199 Mc?/

MO{ MeAS = nedd 8_023 _ 4055/,\4(/

b) [)I/gp = 00 .80 - 100 = 0.680 C

n = 0.020°C = 133 ol = (133 ”‘"’% Yo 3500 1@3)
O 5125 m = 0.518 ot
mel nans = t3g  _ 124 G/mel
0.518 il

0) e = 13516004 = -3. 104

- -2.009°C _ 0.7% A = (0.756 m)0.128 kq)
Z Mo J
-3.90 “C = 0.102 rpd

l\/[&/ njass = ZQ_év) _ 204 j//'("j
O.IOer(de |



Mool
bd) olep = 36.3° -43°= ~p.7%

_ —@f]dC - 0.905 n MU( :(@, G05 /14){0/@‘% /Cj)
-7,4O°C/M = 0./48 n//d/

A nmods = /o.L/g = 70.8 ¢ /nol
e O-ﬁ&nﬂ‘ 7

e) bIFF = 340°C -57°C - -2.3 °C

MoF o233 L 0.329% el 70.329 2 )(0.0655 k)
~2.00°% = 0.0209 /z{d/
rv(v( mMoas = G=8269 2.5%3 < 12l j/"{‘f/
0 0204 rvlf
f\ STrp = -0.L03°C - 0.00°C = -0.603°C
M- 0.603°C - 0.32¢ n el = (0529 w0109 Kq)
._,/.%G%/M— = 0.0337 V‘Td/
Mu{n/(aAAfﬁbOj = (bl g//t{a/

©.0337 w(u(



